



*Gen. Math. Notes, Vol. 34, No. 2, June 2016, pp.1-11*  
*ISSN 2219-7184; Copyright ©ICSRS Publication, 2016*  
*www.i-csrs.org*  
*Available free online at <http://www.geman.in>*

# Partial Sums of Certain Classes of Analytic Functions Defined by Generalized Differential Operator

Hazha Zirar

Department of Mathematics, College of Science  
University of Salahaddin, Erbil, Kurdistan, Iraq  
E-mail: hazhazirar@yahoo.com

(Received: 21-2-16 / Accepted: 24-5-16)

## Abstract

*In this paper, we introduce the class  $\mathfrak{L}_{\lambda, n}^{\rho, \eta, \mu}(\alpha, \beta)$  of analytic functions in the open unit disc  $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$  defined by differential operator. The main aim of the present paper is to determine coefficient estimates and some results concerning the partial sums for functions  $f(z)$  belonging to this class.*

**Keywords:** *Partial sums, Analytic functions, Starlike functions, Convex functions, Differential operator.*

## 1 Introduction

Let  $A$  denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1)$$

which are analytic in the open unit disc  $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$ . Let  $K(\alpha)$  and  $S^*(\alpha)$  denote the subclasses of  $A$  which are, respectively, convex and starlike functions of order  $\alpha, 0 \leq \alpha < 1$ . For convenience, we write  $K(0) = K$  and  $S^*(0) = S^*$  (see [9]).

For a function  $f \in A, \rho, \eta, \mu, \lambda \geq 0$  and  $n \in \mathbb{N}_0$  we define the differential operator, as follows:

$$D^0 f(z) = f(z),$$

$$\begin{aligned}
D_\lambda^1(\rho, \eta, \mu)f(z) &= \left(\frac{\rho - \mu + \eta - \lambda}{\rho + \eta}\right)f(z) + \left(\frac{\mu + \lambda}{\rho + \eta}\right)zf'(z), \\
D_\lambda^2(\rho, \eta, \mu)f(z) &= D(D_\lambda^1(\rho, \eta, \mu)f(z)), \\
&\vdots \\
&\vdots \\
&\vdots \\
D_\lambda^k(\rho, \eta, \mu)f(z) &= D(D_\lambda^{k-1}(\rho, \eta, \mu)f(z)). \tag{2}
\end{aligned}$$

If  $f$  is given by (1), then from (2), we see that

$$D_\lambda^k(\rho, \eta, \mu)f(z) = z + \sum_{n=2}^{\infty} \left(\frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta}\right)^k a_n z^n, \tag{3}$$

which generalizes many operators. Indeed, if in the definition of  $D_\lambda^k(\rho, \eta, \mu)$  we substitute the following:

- $\eta = 1, \mu = 0$ , we get  
 $D_\lambda^k(\rho, 1, 0)f(z) = D^k f(z) = z + \sum_{n=2}^{\infty} \left(\frac{\rho + (\lambda(n-1)+1)}{\rho+1}\right)^k a_n z^n$  of Aouf, El-Ashwah and El-Deeb differential operator [2].
- $\rho = 1, \eta = 0, \mu = 0$ , we get  
 $D_\lambda^k(1, 0, 0)f(z) = D^k f(z) = z + \sum_{n=2}^{\infty} (1 + \lambda(n-1))^k a_n z^n$  of AL-Oboudi differential operator [1].
- $\rho = 1, \eta = 0, \mu = 0$  and  $\lambda = 1$ , we get  
 $D_1^k(1, 0, 0)f(z) = D^k f(z) = z + \sum_{n=2}^{\infty} (n)^k a_n z^n$  of Salagean differential operator [6].
- $\rho = 1, \eta = 1, \lambda = 1$  and  $\mu = 0$ , we get  
 $D_1^k(1, 1, 0)f(z) = D^k f(z) = z + \sum_{n=2}^{\infty} \left(\frac{n+1}{2}\right)^k a_n z^n$  of Uralegaddi and Somanatha operator [10].
- $\eta = 1, \lambda = 1$ , and  $\mu = 0$ , we get  
 $D_1^k(\alpha, 1, 0)f(z) = D^k f(z) = z + \sum_{n=2}^{\infty} \left(\frac{n+\alpha}{\alpha+1}\right)^k a_n z^n$  of Cho and Srivastava differential operator [3, 4].

Now we define some new subclasses of analytic functions by using extended multiplier transformations operator.

For  $0 \leq \alpha < 1, \beta \geq 0$  and for all  $z \in \mathcal{U}$ , let  $\mathfrak{A}_{\lambda, n}^{\rho, \eta, \mu}(\alpha, \beta)$  denote the subclass of  $A$  consisting of functions  $f(z)$  of the form (1) and satisfying the analytic criterion

$$\Re\left\{\frac{D_\lambda^k(\rho, \eta, \mu)f(z)}{z(D_\lambda^k(\rho, \eta, \mu)f(z))'} - \alpha\right\} > \beta \left| \frac{D_\lambda^k(\rho, \eta, \mu)f(z)}{z(D_\lambda^k(\rho, \eta, \mu)f(z))'} - 1 \right|. \tag{4}$$

Denote by  $T$  the subclass of  $A$  consisting of functions of the form:

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n (a_n \geq 0), \tag{5}$$

which are analytic in  $\mathcal{U}$ . We define the class  $\mathfrak{L}_{\lambda,n}^{\rho,\eta,\mu}(\alpha, \beta)$  by:

$$\mathfrak{L}_{\lambda,n}^{\rho,\eta,\mu}(\alpha, \beta) = \mathfrak{A}_{\lambda,n}^{\rho,\eta,\mu}(\alpha, \beta) \cap T.$$

Putting  $k = 0$  in (5), the class  $\mathfrak{L}_{\lambda,n}^{\rho,\eta,\mu}(\alpha, \beta)$  reduces to the class  $ST(\alpha, \beta)$

$$= \{f \in T : \Re\{\frac{f(z)}{zf'(z)} - \alpha\} > \beta \mid \frac{f(z)}{zf'(z)} - \alpha, 0 \leq \alpha < 1, \beta \geq 0, z \in \mathcal{U}\},$$

and the class  $ST(\alpha, 0) = ST(\alpha)$  is the family of functions  $f(z) \in T$  which satisfy the following condition (see [5] and [11])

$$ST(\alpha) = \Re\{\frac{f(z)}{zf'(z)}\} > \alpha (0 \leq \alpha < 1).$$

In this paper, applying methods used by Silverman [7] and Silvia [8], we investigate the ratio of a function of the form (5) to its sequence of partial sums  $f_m(z) = z + \sum_{n=2}^m a_n z^n$ . More precisely, we will determine sharp lower bounds for  $\Re\{\frac{f(z)}{zf_m(z)}\}$ ,  $\Re\{\frac{f_m(z)}{f(z)}\}$ ,  $\Re\{\frac{f'(z)}{f'_m(z)}\}$  and  $\Re\{\frac{f'_m(z)}{f'(z)}\}$ . In the sequel, we will make use of the well-known result that  $\Re\{\frac{1+w(z)}{1-w(z)}\} > 0 (z \in \mathcal{U})$  if and only if  $w(z) = \sum_{n=1}^{\infty} c_n z^n$  satisfies the inequality  $|w(z)| \leq |z|$ .

## 2 Coefficient Estimates

Using the technique used by Yamakawa [11, Lemma 2.1] we prove the following theorem:

**Theorem 2.1** *A function  $f(z)$  of the form (1) is in the class  $\mathfrak{L}_{\lambda,n}^{\rho,\eta,\mu}(\alpha, \beta)$  if*

$$\sum_{n=2}^{\infty} [2n - n(\alpha - \beta) - (\beta + 1)] \left(\frac{\rho + (\mu + \lambda)(n - 1) + \eta}{\rho + \eta}\right)^k a_n \leq 1 - \alpha, \tag{6}$$

where  $-1 \leq \alpha < 1, \beta \geq 0, n \geq 0, \rho, \eta, \mu, \lambda \geq 0$  and  $z \in \mathcal{U}$ .

**Proof:** Suppose that (6) is true. Since

$$\frac{[2n - n(\alpha - \beta) - (\beta + 1)] \left(\frac{\rho + (\mu + \lambda)(n - 1) + \eta}{\rho + \eta}\right)^k - n \left(\frac{\rho + (\mu + \lambda)(n - 1) + \eta}{\rho + \eta}\right)^k}{1 - \alpha}$$

$$= \frac{(n-1)(1+\beta)}{1-\alpha} \left( \frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta} \right)^k > 0,$$

we deduce

$$\begin{aligned} & \sum_{n=2}^{\infty} n \left( \frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta} \right)^k |a_n| \\ & < \sum_{n=2}^{\infty} \frac{[2n - n(\alpha - \beta) - (\beta + 1)]}{1 - \alpha} \left( \frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta} \right)^k |a_n| \leq 1. \end{aligned}$$

It suffices to show that

$$\beta \left| \frac{D_{\lambda}^k(\rho, \eta, \mu)f(z)}{z(D_{\lambda}^k(\rho, \eta, \mu)f(z))'} - 1 \right| - \Re \left( \frac{D_{\lambda}^k(\rho, \eta, \mu)f(z)}{z(D_{\lambda}^k(\rho, \eta, \mu)f(z))'} - 1 \right) \leq 1 - \alpha,$$

we have

$$\begin{aligned} & \beta \left| \frac{D_{\lambda}^k(\rho, \eta, \mu)f(z)}{z(D_{\lambda}^k(\rho, \eta, \mu)f(z))'} - 1 \right| - \Re \left( \frac{D_{\lambda}^k(\rho, \eta, \mu)f(z)}{z(D_{\lambda}^k(\rho, \eta, \mu)f(z))'} - 1 \right) \\ & \leq (1 + \beta) \left| \frac{D_{\lambda}^k(\rho, \eta, \mu)f(z)}{z(D_{\lambda}^k(\rho, \eta, \mu)f(z))'} - 1 \right| \\ & \leq \frac{(1 + \beta) \sum_{n=2}^{\infty} (n-1) \left( \frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta} \right)^k |a_n|}{1 - \sum_{n=2}^{\infty} n \left( \frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta} \right)^k |a_n|}, \end{aligned}$$

which yields

$$\begin{aligned} & (1 - \alpha) - (1 + \beta) \left| \frac{D_{\lambda}^k(\rho, \eta, \mu)f(z)}{z(D_{\lambda}^k(\rho, \eta, \mu)f(z))'} - 1 \right| \\ & > \frac{(1 - \alpha) - \sum_{n=2}^{\infty} [2n - n(\alpha - \beta) - (\beta + 1)] \left( \frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta} \right)^k |a_n|}{1 - \sum_{n=2}^{\infty} n \left( \frac{\rho + (\mu + \lambda)(n-1) + \eta}{\rho + \eta} \right)^k |a_n|} \geq 0. \end{aligned}$$

Hence the proof is complete.

### 3 Partial Sums

**Theorem 3.1** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re \left\{ \frac{f(z)}{f_m(z)} \right\} \geq 1 - \frac{1}{C_{m+1}}, \quad (7)$$

and

$$C_n \geq \left\{ \begin{array}{ll} 1 & n = 2, 3, \dots, m \\ C_{m+1} & n = m + 1, m + 2, \dots \end{array} \right\},$$

where

$$C_n = \frac{[2n - n(\alpha - \beta) - (\beta + 1)]}{1 - \alpha} \left( \frac{\rho + (\mu + \lambda)(n - 1) + \eta}{\rho + \eta} \right)^k. \quad (8)$$

The result in (7) is sharp for every  $m$ , with the extremal function

$$f(z) = z + \frac{z^{m+1}}{C_{m+1}}. \quad (9)$$

**Proof:** We may write

$$\begin{aligned} \frac{1 + w(z)}{1 - w(z)} &= C_{m+1} \left\{ \frac{f(z)}{f_m(z)} - \left( 1 - \frac{1}{C_{m+1}} \right) \right\} \\ &= \left\{ \frac{1 + \sum_{n=2}^m a_n z^{n-1} + C_{m+1} \sum_{n=m+1}^{\infty} a_n z^{n-1}}{1 + \sum_{n=2}^m a_n z^{n-1}} \right\}. \end{aligned}$$

Then

$$w(z) = \frac{C_{m+1} \sum_{n=m+1}^{\infty} a_n z^{n-1}}{2 + 2 \sum_{n=2}^m a_n z^{n-1} + C_{m+1} \sum_{n=m+1}^{\infty} a_n z^{n-1}},$$

and

$$|w(z)| \leq \frac{C_{m+1} \sum_{n=m+1}^{\infty} |a_n|}{2 - 2 \sum_{n=2}^m |a_n| + C_{m+1} \sum_{n=m+1}^{\infty} |a_n|}.$$

Now  $|w(z)| \leq 1$  if

$$2C_{m+1} \sum_{n=m+1}^{\infty} |a_n| \leq 2 - 2 \sum_{n=2}^m |a_n|,$$

which is equivalent to

$$\sum_{n=2}^m |a_n| + C_{m+1} \sum_{n=m+1}^{\infty} |a_n| \leq 1. \quad (10)$$

It suffices to show that the left hand side of (10) is bounded above by  $\sum_{n=2}^{\infty} C_n |a_n|$ , which is equivalent to

$$\sum_{n=2}^m (C_n - 1) |a_n| + \sum_{n=m+1}^{\infty} (C_n - C_{m+1}) |a_n| \geq 0.$$

To see that the function  $f$  given by (9) gives the sharp result, we observe for  $z = re^{i\pi/n}$  that

$$\frac{f(z)}{f_m(z)} = 1 + \frac{z^m}{C_{m+1}}.$$

Letting  $z \rightarrow 1^-$ , we have

$$\frac{f(z)}{f_m(z)} = 1 - \frac{1}{C_{m+1}}.$$

Hence the proof is complete.

**Theorem 3.2** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{C_{m+1}}{1 + C_{m+1}}.$$

*The result is sharp for every  $m$ , with the extremal function  $f(z)$  given by (9).*

**Proof:** We may write

$$\begin{aligned} \frac{1+w(z)}{1-w(z)} &= (1+C_{m+1})\left\{\frac{f_m(z)}{f(z)} - \frac{C_{m+1}}{1+C_{m+1}}\right\} \\ &= \left\{\frac{1 + \sum_{n=2}^m a_n z^{n-1} - C_{m+1} \sum_{n=m+1}^{\infty} a_n z^{n-1}}{1 + \sum_{n=2}^{\infty} a_n z^{n-1}}\right\}, \end{aligned}$$

where

$$w(z) = \frac{(1+C_{m+1}) \sum_{n=m+1}^{\infty} a_n z^{n-1}}{-(2 + 2 \sum_{n=2}^m a_n z^{n-1} - (1-C_{m+1}) \sum_{n=m+1}^{\infty} a_n z^{n-1})},$$

and

$$|w(z)| \leq \frac{(1+C_{m+1}) \sum_{n=m+1}^{\infty} |a_n|}{2 - 2 \sum_{n=2}^m |a_n| - (1-C_{m+1}) \sum_{n=m+1}^{\infty} |a_n|}.$$

Now  $|w(z)| \leq 1$  if

$$2C_{m+1} \sum_{n=m+1}^{\infty} |a_n| \leq 2 - 2 \sum_{n=2}^m |a_n|,$$

which is equivalent to

$$\sum_{n=2}^m |a_n| + C_{m+1} \sum_{n=m+1}^{\infty} |a_n| \leq 1. \quad (11)$$

It suffices to show that the left hand side of (11) is bounded above by  $\sum_{n=2}^{\infty} C_n |a_n|$ , which is equivalent to

$$\sum_{n=2}^m (C_n - 1) |a_n| + \sum_{n=m+1}^{\infty} (C_n - C_{m+1}) |a_n| \geq 0.$$

Hence the proof is complete.

Putting  $\eta = 1, \mu = 0$ , in Theorem 3.1 and 3.2, respectively, we obtain the following corollary.

**Corollary 3.3** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k - (\rho + 1)^k(1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k}{(\rho + 1)^k(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k}.$$

Putting  $\rho = 1, \eta = 0$ , and  $\mu = 0$ , in Theorem 3.1 and 3.2, respectively, we obtain the following corollary.

**Corollary 3.4** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k - (1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}{(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

Putting  $\rho = 1, \eta = 0, \mu = 0$  and  $\lambda = 1$ , in Theorem 3.1 and 3.2, respectively, we obtain the following corollary.

**Corollary 3.5** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1)^k - (1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}{(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

Putting  $\rho = 1, \eta = 1, \lambda = 1$  and  $\mu = 0$ , in Theorem 3.1 and 3.2, respectively, we obtain the following corollary.

**Corollary 3.6** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k - (2)^k(1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k}{(2)^k(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k}.$$

Putting  $\eta = 1, \lambda = 1$  and  $\mu = 0$ , in Theorem 3.1 and 3.2, respectively, we obtain the following corollary.

**Corollary 3.7** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1 + \rho)^k - (\rho + 1)^k(1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1 + \rho)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1 + \rho)^k}{(\rho + 1)^k(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1 + \rho)^k}.$$

**Theorem 3.8** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$(a) \Re\left\{\frac{f'(z)}{f'_m(z)}\right\} \geq 1 - \frac{m+1}{C_{m+1}}, \quad (12)$$

$$(b) \Re\left\{\frac{f'_m(z)}{f'(z)}\right\} \geq \frac{C_{m+1}}{1 + m + C_{m+1}},$$

where

$$C_n \geq \left\{ \begin{array}{ll} 1 & n = 1, 2, 3, \dots, m \\ n \frac{C_{m+1}}{m+1} & n = m+1, m+2, \dots \end{array} \right\},$$

and  $C_n$  is defined by (8). The estimates in (12) and (13) are sharp with the extremal function given by (9).

**Proof:** We prove only (a), which is similar to the proof of Theorem 3.1. The proof of (b) follows the pattern of that in Theorem 3.2. We write

$$\begin{aligned} \frac{1+w(z)}{1-w(z)} &= C_{m+1} \left\{ \frac{f'(z)}{f'_m(z)} - \left(1 - \frac{1+m}{C_{m+1}}\right) \right\} \\ &= \left\{ \frac{1 + \sum_{n=2}^m n a_n z^{n-1} + \frac{C_{m+1}}{m+1} \sum_{n=m+1}^{\infty} n a_n z^{n-1}}{1 + \sum_{n=2}^m n a_n z^{n-1}} \right\}, \end{aligned}$$

where

$$w(z) = \frac{\frac{C_{m+1}}{m+1} \sum_{n=m+1}^{\infty} n a_n z^{n-1}}{2 + 2 \sum_{n=2}^m n a_n z^{n-1} + \frac{C_{m+1}}{m+1} \sum_{n=m+1}^{\infty} n a_n z^{n-1}},$$

and

$$|w(z)| \leq \frac{\frac{C_{m+1}}{m+1} \sum_{n=m+1}^{\infty} n |a_n|}{2 - 2 \sum_{n=2}^m n |a_n| - \frac{C_{m+1}}{m+1} \sum_{n=m+1}^{\infty} n |a_n|}.$$

Now  $|w(z)| \leq 1$  if and only if

$$\sum_{n=2}^{\infty} n |a_n| + \frac{C_{m+1}}{m+1} \sum_{n=m+1}^{\infty} n |a_n| \leq 1, \quad (14)$$

since the left hand side of (14) is bounded above by  $\sum_{n=2}^{\infty} C_n |a_n|$ . Hence the proof is complete.

Putting  $\eta = 1, \mu = 0$ , in Theorem 3.3, we obtain the following corollary.



**Corollary 3.9** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k - (m+1)(\rho + 1)^k(1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k}{(m+1)(\rho + 1)^k(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](\rho + \lambda + m + 1)^k}.$$

Putting  $\rho = 1, \eta = 0$ , and  $\mu = 0$ , in Theorem 3.3, we obtain the following corollary.

**Corollary 3.10** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k - (m+1)(1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}{(m+1)(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

Putting  $\rho = 1, \eta = 0, \mu = 0$  and  $\lambda = 1$ , in Theorem 3.3, we obtain the following corollary.

**Corollary 3.11** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1)^k - (m+1)(1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}{(m+1)(1 - \alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](1 + \lambda m)^k}.$$

Putting  $\rho = 1, \eta = 1, \lambda = 1$  and  $\mu = 0$ , in Theorem 3.3, we obtain the following corollary.

**Corollary 3.12** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k - (m+1)(2)^k(1 - \alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k}{(m+1)(2)^k(1-\alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+2)^k}.$$

Putting  $\eta = 1, \lambda = 1$  and  $\mu = 0$ , in Theorem 3.3, we obtain the following corollary.

**Corollary 3.13** *If  $f$  of the form (1) satisfies the condition (6) and  $\frac{f(z)}{z} \neq 0$  ( $0 < |z| < 1$ ), then*

$$\Re\left\{\frac{f(z)}{f_m(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1+\rho)^k - (m+1)(\rho+1)^k(1-\alpha)}{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1+\rho)^k}.$$

and

$$\Re\left\{\frac{f_m(z)}{f(z)}\right\} \geq \frac{[2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1+\rho)^k}{(m+1)(\rho+1)^k(1-\alpha) + [2m - (m+1)(\alpha - \beta) - (\beta - 1)](m+1+\rho)^k}.$$

## References

- [1] F.M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, *Int. J. Math. Sci.*, 27(2004), 1429-1436.
- [2] M.K. Aouf, R.M. El-Ashwah and S.M. El-Deeb, Some inequalities for certain p-valent functions involving extended multiplier transformations, *Proc. Pakistan Acad. Sci.*, 46(2009), 217-221.
- [3] N.E. Cho and H.M. Srivastava, Argument estimates of certain analytic functions defined by a class of multiplier transformations, *Math. Comp. Mod.*, 37(2003), 39-49.
- [4] N.E. Cho and T.H. Kim, Multiplier transformations and strongly close-to-convex functions, *Bull. Korean Math. Soc.*, 40(2003), 399-410.
- [5] J.S. Kang, S. Owa and H.M. Srivastava, Quasi-convolution properties of certain subclasses of analytic functions, *Bull. Belg. Math. Soc.*, 3(1996), 603-608.
- [6] G.S. Salagean, Subclasses of univalent functions, *Lecture Notes in Mathematics*, Springer-Verlag, 1013(1983), 362-372.
- [7] H. Silverman, Partial sums of starlike and convex functions, *J. Math. Anal. Appl.*, 209(1997), 221-227.
- [8] E.M. Silvia, Partial sums of convex functions of order  $\alpha$ , *Houston J. Math.*, 11(3) (1985), 397-404.

- [9] H.M. Srivastava and S. Owa (Editors), *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, New Jersey, London, Hong Kong, (1992).
- [10] B.A. Uralegaddi and C. Somanatha, Certain classes of univalent functions, In: H.M. Srivastava and S. Owa (eds.), *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, (1992), 371-374.
- [11] R. Yamakawa, Certain subclasses of p-valent starlike functions with negative coefficients, In: *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, New Jersey, London, Hong Kong, (1992), 393-402.